Problem 2.52

Find 
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 in the network shown.
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Suggested Solution

The network can be redrawn as:
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Combining the four resistors on the right-hand side 
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yields:
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and 
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Then, reconsidering the original circuit,
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and


[image: image5.wmf](

)

416

4 A A V

33

o

V

æö

=-=-

ç÷

èø


� EMBED SmartDraw.2  ���





� EMBED SmartDraw.2  ���





� EMBED SmartDraw.2  ���





� EMBED SmartDraw.2  ���








[image: image9.wmf]2

W

8

W

2

W

4

W

4

W

24 V

+

V

o

_

4 A

I

2

[image: image10.wmf]2

W

8

W

2

W

4

W

4

W

24 V

+

V

o

_

[image: image11.wmf]2

W

8

W

2

W

4

W

4

W

24 V

+

V

o

_

4 A

I

2

[image: image12.wmf]2

W

8

W

2

W

4

W

4

W

24 V

+

V

o

_

_1057517960.unknown

_1057518620.unknown

_1057518752.unknown

_1057518294.unknown

_1057518535.bin

_1057518125.bin

_1057322113.bin

_1057517675.bin

_1057183306.unknown

